
WOODWIZZ SLAB LEVELLING

Softwoods $85m2 | Hardwoods $90m2 | Resin $95m2

From $85m2*6m x 1.8m Bed Capacity

WIDE BELT SANDING

Softwoods $110m2 | Hardwoods $120m2 | Resin $130m2

From $110m2*1350mm Width x 130mm Height

THICKNESSING

Softwoods $85m2 | Hardwoods $90m2 

From $85m2*635mm Width

CNC CUTTING/ENGRAVING

Hourly Rate Including Design Time

From $100hr*1200mm x 1200mm Capacity

CO2 LASER CUTTING/ENGRAVING

Hourly Rate Including Design Time

From $100hr*600mm x 900mm Capacity

CUT TO SIZE/SHAPE/RESAWING
From $50*3.8m Panel Saw, Mitre Saw, Table Saw, Bandsaws

WORKSHOP RATE

Private Assistance with Projects, Joinery etc.

$100/hr*Basic Hand Power Tools Included Exc. Consumables

*MINIMUM CHARGE $50 + GST

2023 SERVICE PRICE GUIDE
ALL PRICES QUOTED BELOW INCLUDE AN OPERATOR & ARE GST EXCLUSIVE. 

DUE TO INCREASED DEMAND PLEASE BOOK TO RESERVE YOUR SPOT

JOINTING

Softwoods $85m2 | Hardwoods $90m2 

From $85m2*405mm Width



2023 SERVICE PRICE GUIDE
ALL PRICES QUOTED BELOW INCLUDE AN OPERATOR & ARE GST EXCLUSIVE. 

DUE TO INCREASED DEMAND PLEASE BOOK TO RESERVE YOUR SPOT

ALL DAMAGE TO MACHINES CUTTERS, BLADES, BELTS ETC. CAUSED BY FOREIGN MATERIAL 

APPROPRIATE WORKSHOP BEHAVIOR IS A MUST. PERSONS WHO APPEAR UNDER THE 

MANAGEMENT RESERVES THE RIGHT TO REFUSE ENTRY TO ANY PERSON, OR TO REQUEST THE 

SERVICES TERMS & CONDITIONS



EG. NAILS, ROCKS METAL WILL INCUR A MINIMUM $220 FEE OR ACTUAL DAMAGE COST. WE RECOMMEND 
USING A METAL DETECTOR & EXAMINING TIMBER CLOSELY PRIOR TO PROVIDING FOR SERVICES.




INFLUENCE OF DRUGS OR ALCOHOL ARE NOT WELCOME IN THE WORKSHOP.



PERSON VACATE THE PREMISES. MANAGEMENTS DECISION IS FINAL & WITHOUT RECOURSE

SOME SERVICES ARE BASED ON M2 MEASUREMENTS
TO WORK OUT APPROXIMATE M2 PRICING FOLLOW 1 

OF THE  2 FORMULA'S BELOW. 
REMEMBER WE ONLY CHARGE FOR 1 SIDE, BUT LEVEL/SAND BOTH

MEASURE IN METRES 
EG. 2.1M LENGTH/1.2M WIDTH

MULTIPLY LENGTH TIMES WIDTH 
EG. 2.1 X 1.2 = 2.52M2

MEASURE IN CENTIMETRES
EG. 210CM LENGTH/120CM WIDTH
MULTIPLY LENGTH TIMES WIDTH 

EG. 210 X 120 = 25,200CM2
DIVIDE ANSWER BY 10,000 TO GET M2 CONVERSION

EG. 25,200 / 10,000 = 2.52M2




